[bookmark: _GoBack]Answer 3 Questions: 1. The United States Intelligence Community (USIC) is made up of 17 separate U.S. government agencies each with their own missions, capabilities, and varied responsibilities. Please describe the advantages and disadvantages of this model. When discussing the question, cite your supporting evidence using standard APA citation format. Do not use Wikipedia as supporting evidence. 2. Not explicitly represented in the USIC is the private sector. What role, if any, does the private sector, private companies, and private individuals have in the collection of intelligence? Explore a recent example of the USIC working with the private sector. Were these relationships beneficial? Why or why not? 3. Describe how a breakdown in one of the intelligence cycle steps and/or the Tenets of Intelligence can lead to intelligence failures. Support your answers with examples.
